m 000

oo
lin(0O0O) =254 cm

1f(0000) =12 in = 0.3048 m
1yard(DDO) =3 ft = 09144 m

1 fathom(OOODO) =61t =1.8288 m
1mile(CO0) = 1760 yard = 1609.344 m
1 nautical mile(0 0O) = 1852 m = 2025.4 yard
oo

1in? = 6.4516 cm?

1 ft2 = 144 in? = 0.09290 m?

1 circular in(0 0 00) = T in? = 0.7854 in?
lacre(DODOD) = 4840 yard? = 43560 ft2
oo

1in? = 16.387 cm3

1ft3 = 1728 in3

1 eylindrical in f6(000000000)
— T in? ft = 9.425 in® = 0.005454 ft3

1gal(DOOD) = 4.54609 liter = 277.42 in® = 0.16054 ft*

1 hogshead(D O OO OO ) = 52.5 gal = 238.7 liter = 8.42 ft3

oon

0oooo = 32 ¢ ft/s? = 386 in/s? = 9.80 m/s?
Dooooog

1grain(DO0D0DO) = =55 1b

11b(000) = 0.453592 kg

1 peck(DO0) =1bsh =211 (0000000000O0)
1bsh(DODODOD) =84b=3cwt (000000000DODO)

1 Yorkshir bsh =881b

lewt(D0ODOOODODOODO) =1121b (00O long hundred weight = 120 1b)
1ton(O0ODO) =20 cwt = 2240 1b

1 chaldron(DOODODO) = 27 cwt = 36 bsh = 3024 1b

Dooooon

oooo = 1000 kg/m?3 = 62.3 1b/ft> = 0.03605 1b/in® = 0.3398 Ib/(cyl.in ft)

(Farey O ~ 62.5 1b/ft® = 0.03619 1b/in® = 0.341 1b/(cyl.in ft))



Doood = 136000 kg/m?3 = 847.28 Ib/ft> = 0.4903 b /in®

ooooo = 450 1b/ft> = 0.260 1b/in?
00
ooooo = 760 mm Hg = 10.34 m Aq — 101.325 kPa

= 20.92 in Hg = 33.9 ft Aq = 14.67 1b/in? (Farey O ~ 143 1b /in?)

oo (oo)
1HP(ODOD) — 33000 1b £t /min = 550 Ib ft/s = 76.402 kg m/s = 1.014 PS = 745.7 W
0o
oooo 5 /0000
1°F(00 e
@) °C 9( oF )
F \ °C | 0o
212 100 | oooooooo
100 37.8 | (0ooODOOD)
50 10 |(ooooooo)
32 0 00000000
0 178 | (DoODoooooo)
-459.67 | -273.15 | 0000
ooooo
1000 (£) ~ 200000 (s) =240000 (d.)
10000 (s) ~ 12000 (d)
0ooo000 (@O) (900000000000000)
0o — 050000 (325040000)

ooooo —020000 (16000)



